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Mark the correct statements with this (v) and the incorrect
ones with this (x):
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Rewrite the following sentences using :,mj
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Rewrite the following sentences using w,:i as shown in the
example:
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Answer the following questions in the negative using ;,.,J
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The teacher asks every student a question like the onés given

below, and the student replies in the negative using {- ° /; :
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Rewrite the following sentences using u‘ as shown in the
example:
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POINTS TO REMEMBER

In this lesson, we learn the following:

1) w—‘ It means ‘is not’. It is used in a dww \ A.Lor e.qg.:

-

22 - A 0~ o 7] - -
NG [ ST u..,,.ﬂ U...J ‘The house is not new.’

Note that — is added to the khabar, and it is therefore majrir.

-

After the introduction of _w—d, the mubtada’is called ismu laisa, and the

khabaris called khabaru laisa.

The feminine of _md is G, €.9.:

<0~

.m,a oD c\-.m,u ) Cend "Zainab is not sick.”

-

A c)\-;.«J\ > ik 5}\:13‘ s-m.J ‘The car is not old.’

z - -

Note that in the second example the swkdn of Cn_.ﬁ.} has changed to
kasrah because of the following ‘al’ (laisat |-sayyaratu - /aisat-i-/-

sayyaratu).

The forms of _~—J with other pronouns are mentioned in Exercise 3. In

J-L.e.a.a o) the pronoun < is the ismu /aisa, and u""*é-‘*’ is the khabaru

/a/sa.

We can also say du\..@.u &2 LS Here Ul is mubtada’and the sentence
Jw\_@-w e is khabar. This sentence is made up of ismu /aisa and

khabaru laisa as we have seen earlier.
Note the following:
At e U .:L;/gJ\&an

1 We can also say ldu> ot J._J Here the khabar has no —, and it is mansdb. You will

A - °
learn this later &1 <& O\,
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If the khabaru laisa is a preposmonal clause like J«GJ\ Nyl it does not take
—:. So one does not say -L-@J\ o |

We have seen in Books One and Two that if the mubtada’is indefinite
and the khabar is a prepositional clause, the mubtada’ comes after the
khabar, e.g. @ j?“ 6—5 ‘T have brothers.” With d«J this sentence becomes

519

‘I have no brothers.’ Here & s+ is ismu /aisa and Q is khabaru laisa.

2) If d\ is added to a sentence like 0}7\ u—‘ it becomes oy-\ ‘; d\

sz

Here & ¢\ is mansdb because it is ismu inna, and 3 is khabaru inna.

3) -Lo\? u‘ J‘)M ‘Bilal, son of Hamid'". In a construction like this, the a/if

of u-" is omltted in writing, and the preceding word loses its fanwin.

4) “C‘ﬂ\ » literally means ‘Who is the brother?’ It is a polite way of

skmg a stranger who he is.

:\.53 meeting W& river
d.aw.: "\ 9, peant 6 T am happy to meet you.” 2-:54.4 telegram
i good &b ae bank
e pocket’ - ;J\ L&» post office
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